#1401 71, J01LIE Sioto]

T o288

(o N 1800-1111
& rPRecycle —_

OiLplEY BE gHge 1800-1000
112 HAY 8IS ALBO QleuTt

- 27H Ol FEAf| FIEE ARI5HA A2, SiiHo] E47i Ryt ZSIZEEE 7|8 Saf Ftoft
BRE(0f MBS0\t 0|2BIE SO HES 0JE 4 QLI

+71E 3 A Al MEMRIM 2 ME ofaig tieA| SISt BiRiLiCh

< A3t L8 St7tE SHOIR|wwwhanacard co kS TSHAIZALE TAMEIR 20| BRI

[+ M87IE 8.2 TPIHI 9ol EYCt.
+ GIAIZ84E 018 A| FHolo| MB520| 01 4 QAL
+ CIHO|RF(2FH0|S + KICj 3%)@ UIRI 0| §4BH2 K5 gElm,
W 22132 24%)3 £0tX) AL
3 1, K| 94 AP0 0F50180) S 30 e 20| H83y
= Sitj2 7 it A : el Lol 2 Lo phrf) Qolat e 32
- SO e ot A 52 3 ol 50t OB 7kl Q0
- 10101 39 0080 NANAHO0IST 4O 38 TP S 5 28 37 48
SR O SOt 1 A1) 0% 2R 1B AR Wk 013

otalH| 7 U i |E

=

. ol3)

Bl &7 1 71S ST Heloli= IIEASS20| 431 710187 Z10] 3 R sl sk
APEi2 7IFOR 14 Eigl2 HREL
+ 18] W71 0[0] L5 Slslulol 7hS 23 2 8 BIR(LT 3 o Sizlulol] BE), 27bHIA HBol
AR/ BISS Rfelet 3 Si9I0] IS RIS HEE| S0l Zio] Thélof UEt AEILICY,
« 13l WA 71 BRI 7K 05 O} ZRPIAIZ LS ELICE TRt 27hHIA M AfB0| 22
7h= sl 717 Ol TS 5T Qi eI,
SIHMHIA | & HE okl
- FHE0I8A| HBEl= EOIE 9 Solsjel 50| £IMHIAL 7HS AIFEAI0TA 48 212) 013 311 0}
£4 1] o] SAIELI
+ CiBL CIS T 212 A7 SRt 29 FIEAE STAHIAS WzEt :
O 7SN S E7tMHIA 2R HE2AC] 591 SA - 29| FRIR, 3882 24 S 1 4ol off
Fole R0l T2 Shst 22
@ 7=l =20l ST} ULHOR SIAHIA HAS SEE 12 S7fE 4
(£, T2 HIERAIE 53 S50| SALRt S7IAHIA HiZ0| 7K58t 22 o)
@ AFEA 3 2712 34 2 10| 31 014 ZIRID, K] #IMBIAS 9%
2014 RAP}ofeiR 52
TSNP} RTINBIAS WS 0= SIIAHIA H2 AR, W LIS 52 A SA| ZHOIRI A
512, 74 TRfSH SRILICE, £5] 712 Al £A] 013 31 01 Znkikm, SHE 7h=0] 424 SR} ofedgl
SIAHIAS WS 290l 6/hY HEE fE AR of S2c
X RETAIE : OISTB B, ST HRISTEMAL), SOHE SXIAIR AfIA 5 271

2 32 8 k=]

atilzxl % 7IErtY
* 32l OIZAGHRIAOIE 742 ) O[SHUSD)7 [ 7424 S0l T4US| KEBSHIH Z1ETA| MMBH=SS

M5t S ZH|EUCAP | EDfSHE ZH|EH=442(One WaylJCB) 1.0%, mastercard 1.0%)2t S =2+
Htste selAHlA 2pR(MBTIE 02%)S ZE6IH0] Hst2 FTELC
—5ll2] OIBA| 73 A=ty
* 312l OIBA| H7Z = (7{2H|SH2 X FAIE BHES) + THIEUCASRE? + sfolMu|Apea?
1. TS g < 40| KEBSILIZE 2| 0A| TS DHES
2. ZHEMEASZ = (74240322 X ZHIEHE0[24-4-28(0ne WaylJCB) 1.0%, mestercard 10%) X THAIRH B
3 liMb[AT42 = (D[S X SHRIMH|ARFRE(ARIIE 0.2%) X T2 tj=g
2l 714 E0A H2tHAIDCC) 7t 427t RalElo2 $XIS8) Ei= 0|8k Z2H5HAN7 | HIZILICH
« Z| AlZH WA [2to] Y DIZAIZKIBA]) 01 Zi| AZtol Q2 S0l chatiAle Zr Azt FhA 71ze] ARgol
w2t g ZFE(X| 25101 FHZ AH2l2 5 USDZ ROU5IAL7| HIELICH
« AISHE YT 0RIAREO1F GAHEHOIX] / 2HIY SOlIA SAZR £= 7H7E eFE3 RIS S8 g
AHPt 7FS Lt
* HIRLIZS SHLIZI= ZH0IX[ D ZAMIE-7 =082t ZAIHH] & i nZéME] 8] &1

CHAIZE SO X 2018-Cla-14606 S(20181227) / Zi4I0] L-18-1745 (201811.01) / V-180208-99

BEST SHOP S2{A
Oft7tE

1

5 ofuIte



BEST SHOP =2 A O[Lt7(E

L2 & One Way(JCB) 18+
&L (mastercard) 18+ 554
- One Way= JCB 012|718 F0f|A 0|8 7H5 Tt Oft7tEQ] N3 HRHEJL T}

O LGHX} 7|2 2ol M| AQF LG} 47| HIF TR MH| A
TA HB=IX] GEUT.
*LGHX P71 Z R LRAMH| A LGHX| 7[R MH| £ 0|8 F

*LCHRE 47| G YR M| A LGEA 7[R 0[0|§ B FEA

LGHIX} 7| St 9 SOl AMH| A (LGHX| 7| U 0§ 5)

1. LGHX} 7[2rst M| A

302U OP Al 2471, 367K 59% /% U HY

3 LGHXHH AEATHIZ 221 4] 700 348 24361 Y22 0§01,
OF Y420} TS ZoHS YIDEYA 02 YU AH|A
x UTRGAR I FUDH 0| Ayetel 10|t ool Tiat Ael i
7L M| AL QUH DLt L0 24282 0/8 2 49100,
2t 01300] 300K D[BI0| Lt 204, 37HR WOt HS
U2 TG0 7| U UOLH| A 0KIG
(7/2 M| A O[Z|§ Al0] WAL THOl'S Ut o1 £420 Q)

¢ LGRIXE 725 M| A X[ O] g A1t 47jglo] X3
% 2 0] 8710 01§ o AU Hoh A Pt Af2)

2. LGHIA} 7[Qrst 310l AH| A

x|y

300K Of4f

== 0009 / ¥ 14 X3t glo

smeynr  4008/8 REACE Loum o
SEALBIO| 0|8 7|12t 5 Mg

sogeloy o0/ SHEY

X LGHA} 47| IS 0ol Mu| A0t 52 X8 27}

LGHX} 47| IS QI M| A (GHxtHY7| LE 0018 = FRAI)

3, LGHIX} 47| IS 101 AH| A

olgx zz | MU= L
o o0u/d  WAMUYOl  LGHE A
80%kl ot ggomtzly a3
803K O] Af 17,0009 / & Akl XHEOIMIAl XS

3 LGRX} 37|25 20l M| AQ 55 g 20t
x AL T 59I13%0| T OH=BCFHS FL $9I3URE Y7L 48
3¢ O] (A% 302140]4f 80311 D[22 Z)
- 0Z 30601 124 4 4] > 18F 2R 70l
- 0T B 24 200 Y 4] > 2 8L X9 (35 18F 2HRY) AL
- AL 0T B4 2 18] Y 4| > B 7T

O MH|A HIgx=H
[&=]
DAL 0[§aX 78 2
TR LRE YT SAUAE 7|F) SHQ AIS/D T 0185 302/
8024 O gA| MH| A7} X5 EUC.
(LCHR} 37|25 MH| A= X|HE O] 3AH I 2HZLO0| XZ)
2) X' O] 8eH L7 M| T
(=, XM, B, S NS S8, HEE, METIE T, 7| ZEJE Ff,
EAPEA O] 85U HIQ
3) Y 0|-8212 0|8 HO| A O = TN Ph X2
4) B A & Y Ote = O 1L RE LATX|O| SLQ| UM E/LE Z T IFWS
J|Eo 2 LPEE|T, O 4 Al HA HE dO of §aHol Xtz
5 uEad, SHag, ol 0830 5 252 0ge| T2 U= &0l 0| 8-4H HiY

[V 272{0] M| A XFOHe 7121
5% I1C AHE 55 T 01T LU X|UT FHEAIH 300K 0/8F AlofE
FHT AL 302191 0|4 803K O[9t 7| E0 2 |




